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~\
(@) Prepare the following cost ledger control accounts, balancing all accounts at the
end of Period 3.
(Use the space on page 5 for your workings.)
(i) Raw Materials Control Account
(2)
Details $ Details $
o (i) Wages Control Account
“:’ Details $ Details $
(i) Production Overhead Control Account
(3)
Details $ Details $
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Workings

(b) Explain two features of a non-integrated accounting system.
(4)

(Total for Question 1 = 20 marks)
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(@) Prepare the table showing the flexed budget for the actual output of 8 700 units,
and the relevant variances. You must state if the variance is favourable or adverse.
(Use the space below the table for your workings.)
(17)
Flexible budget Actual results Variance
Sales and production 8 700 units 8 700 units
$ S $
Sales revenue
Direct material
Direct labour
Production overheads
Administration
overheads
Selling overheads
Total costs
Workings
\. y,
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(b) Explain the main difference between a fixed budget and a flexible budget.

(c) Give two of the bases for flexing a budget.
(2)

(Total for Question 2 = 21 marks)
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(@) Calculate the production overhead cost (to two decimal places) for one unit of
each product, using absorption costing.
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(c) Explain two advantages of using activity based costing (ABC).

DONOTWRITEINTHISAREA

(Total for Question 3 = 21 marks)
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(i) trade receivables collection period (number of days)

(iii) trade payables payment period (number of days)

J
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(b) Evaluate the liquidity of the company, using the financial information provided
and the ratios calculated in (a).
(8)

Inventory

Trade receivables

Trade payables

Conclusion

(Total for Question 4 = 18 marks)
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(ii) internal rate of return.
(4)

21
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(d) Advise why it is necessary to use a discounted cash flow method when
determining whether an investment project should be undertaken.

(3)

"DONOTWRITEINTHISAREA = = =

(Total for Question 5 = 20 marks)

TOTAL FOR PAPER = 100 MARKS
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